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Q.1. 
𝑰𝒇 𝑨 =  [

𝟐 𝟎 𝟎
𝟎 𝟑 𝟎
𝟎 𝟎 𝟏

] , 𝒕𝒉𝒆𝒏 𝑨 𝒊𝒔 𝒂  

 A Diagonal matrix B scalar matrix C Square matrix D zero matrix 

Q.2. 
𝑰𝒇 𝑨 =  [

𝟏
𝟐
𝟎

]  𝒂𝒏𝒅 𝑩 =  [𝟏 𝟎 𝟐]then AB 

 
A. is not defined B. [𝟏 𝟎 𝟎] C. [

𝟏
𝟎
𝟎

] D. [
𝟏 𝟎 𝟐
𝟐 𝟎 𝟒
𝟎 𝟎 𝟎

] 

Q.3. 𝑰𝒇 𝑨 =  [
𝟓 𝟕
𝟑 𝟒

] , 𝒕𝒉𝒆𝒏 𝑨−𝟏 

 A. [
𝟒 −𝟕

−𝟑 𝟓
] B. [

−𝟒 𝟕
𝟑 −𝟓

] 𝑪. [
𝟓 −𝟕

−𝟑 𝟒
] D. [

−𝟓 −𝟑
−𝟕 −𝟒

] 

Q.4. 
𝑰𝒇 𝑨 =  [

𝟑 𝟎 𝟏
𝟏 𝟏 𝟎
𝟎 𝟎 𝟏

] , 𝒕𝒉𝒆𝒏 |𝑨. 𝒂𝒅𝒋𝑨|  

 A. 3 B. 9 C. 𝟐𝟕 D. 0 

Q.5 

To 
Q7 

Three schools P, Q and R decided to organize a fair for collecting money for helping the flood victims. They sold 
handmade fans, mats and plates from recycled material at a cost of ₹ 25, ₹ 100 and ₹ 50 each respectively. The number 
of articles sold are given below.  

Based on the information, answer the following questions: 

School→ 

Article↓ 

P Q R A. What is the total money (in ₹) collected by the school 
P? 

 

B. What is the total money (in ₹) collected by the school 
Q and R? 
 
 

C. If the number of handmade fans and plates are 
interchanged for all the schools, then what is the 
total money (in ₹) collected by all schools? 

Handmade fans 

 

40 25 35 

Mats 

 

50 40 50 

Plates 

 

20 30 40 
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 A 21000 B 21250 C 7000 D 14000 

Q8. 𝑰𝒇 |
𝒙 𝟓
𝟎 𝒙

| = |
−𝟔 𝟓
−𝟖 𝟒

| , 𝒕𝒉𝒆𝒏 𝒙 =  

 
A 4 B -4 C ±𝟒 D ±𝟏𝟔 

 

Q.9. 
𝑰𝒇 (

𝟐𝒙 − 𝒚 𝟐𝒙 − 𝟏
𝟓𝒙 − 𝟕 𝟑𝒙 − 𝟒

) = (
𝟕 𝟕𝒚

𝟑𝒙 + 𝒚 𝒙 + 𝟒
) , 𝒕𝒉𝒆𝒏 𝒗𝒂𝒍𝒖𝒆 𝒐𝒇 𝒙 𝒂𝒏𝒅 𝒚   

 A. 𝒙 = 𝟒, 𝒚 =  −𝟏 
B. 𝒙 = 𝟒, 𝒚 = 𝟏 

 C. 𝒙 = 𝟏, 𝒚 =  𝟒 
D. 𝒙 = −𝟒, 𝒚 = 𝟏 

Q10. 
𝑰𝒇 𝒙 + 𝒚 + 𝒙𝒚 = 𝟏𝟎 , 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
 

 A − (
𝟏

𝟏 + 𝒙
) B 

− (
𝟏𝟎

𝟏 + 𝒙
) 

𝑪 

− (
𝟏 + 𝒚

𝟏 + 𝒙
) D − (

𝟏 − 𝒙

𝟏 + 𝒚
) 

Q11 𝑨. 𝑰𝒇 𝒙 = 𝒂𝒕𝟐, 𝒚 = 𝟒𝒂𝒕, 𝒕𝒉𝒆𝒏 
𝒅𝒚

𝒅𝒙
 at t= 2 

Q12  The value of |
𝟑 𝟏𝟎 𝟏𝟎𝟑
𝟓 𝟗 𝟗𝟓
𝟕 𝟓 𝟓𝟕

| 

Q13 C.  If A is a 𝟑 × 𝟑 matrix and |𝑨| = 𝟐𝟓, 𝒕𝒉𝒆𝒏 |𝟐𝑨| 

Q14 𝒚 =  𝒙𝒙, 𝒕𝒉𝒆𝒏 
𝒅𝒚

𝒅𝒙
                                                                        

 A. 𝒙𝒙(𝟏 + 𝒍𝒐𝒈𝒙) B. 𝒙𝒙 C. 𝒙𝒙 𝒍𝒐𝒈𝒙 D. 𝒙𝒙𝐥𝐨𝐠 (𝒙 + 𝟏) 

Q15. 

 

Which of the following statement is correct? 

a) Matrix multiplication is commutative 
b) Determinant is a number associated to a square matrix 
c) All square matrices are symmetric matrices 
d) If any two rows of a determinant are interchanged, then the value remains unchanged. 

Q16. State TRUE or FALSE: A square matrix where every element is unity is called an identity matrix. 

Q17. On using elementary column operations 𝑹𝟐 → 𝑹𝟏 + 𝟐𝑹𝟐 in the following matrix equation  

(
𝟏 −𝟑
𝟐 𝟒

) = (
𝟏 −𝟏
𝟎 𝟏

) (
𝟑 𝟏
𝟐 𝟒

), we have 

 A. (
𝟓 𝟓
𝟐 𝟒

) = (
𝟏 −𝟏
𝟎 𝟏

) (
𝟑 𝟏
𝟐 𝟒

) B. (
𝟓 −𝟓
𝟐 𝟒

) = (
𝟏 𝟏
𝟎 𝟏

) (
𝟑 𝟏
𝟐 𝟒

) 



Class XII/2021-22/Applied Mathematics/UT 1 

 C. (
𝟓 𝟓
𝟐 𝟒

) = (
𝟏 𝟏
𝟎 𝟏

) (
𝟑 𝟏
𝟐 𝟒

) 
D. (

𝟓 −𝟓
𝟐 𝟒

) = (
−𝟏 −𝟏
𝟎 𝟏

) (
𝟑 𝟏
𝟐 𝟒

) 

Q18. 𝑰𝒇 𝑨 =  (
𝟏 𝟓
𝟕 𝟒

) , 𝑩 = (
𝟐 𝟏
𝟕 𝟑

)  𝒂𝒏𝒅 𝟑𝑨 + 𝟓𝑩 + 𝑪 𝒊𝒔 𝒂 𝒏𝒖𝒍𝒍 𝒎𝒂𝒕𝒓𝒊𝒙.  

𝑻𝒉𝒆𝒏 𝑪 =  ______ 

 A. (
𝟏𝟑 𝟐𝟎
𝟓𝟔 𝟏𝟕

) 
B. (

−𝟏𝟑 −𝟐𝟎
−𝟓𝟔 −𝟐𝟕

) 

     𝑪. (
𝟏𝟑 𝟐𝟎
𝟏𝟒 𝟕

)      𝑫. (
−𝟑 −𝟔

−𝟏𝟒 −𝟕
) 

Q19. If P is a 𝟐 × 𝟐 𝒎𝒂𝒕𝒓𝒊𝒙 whose elements are given by 𝒂𝒊𝒋 = (𝒊 − 𝟐𝒋)𝟐, then P 

 𝑨. (
𝟏 𝟏
𝟏 𝟒

)              B.  (
𝟏 𝟗
𝟎 𝟒

)              C. (
𝟏 𝟎
𝟗 𝟒

)                 𝑫.  (
𝟎 𝟗
𝟏 𝟎

) 

Q20. 
 If  |

𝟑 − 𝒙 𝟑 + 𝒙 𝟑 + 𝒙
𝟑 + 𝒙 𝟑 − 𝒙 𝟑 + 𝒙
𝟑 + 𝒙 𝟑 + 𝒙 𝟑 − 𝒙

| = 𝟎, then the values of x 

 𝑨. 𝒙 =  𝟎, 𝒙 = 𝟑      B. 𝒙 = 𝟎, 𝒙 = 𝟗    𝑪. 𝒙 = 𝟎, 𝒙 =  −𝟗    𝑫. 𝒙 = 𝟎, 𝒙 =  −𝟑 

Q21. For the two-sector economy input- output table is given below. Find the technology matrix. 

𝑶𝒖𝒕𝒑𝒖𝒕 → 

𝑰𝒏𝒑𝒖𝒕 ↓ 

Industry 1 Industry 2 Final Demand Total output 

Industry 1 14 6 8 28 

Industry 2 7 18 11 36 

  

 

 𝑨. (
𝟏𝟒 𝟔
𝟕 𝟏𝟖

) 

𝑩. (

𝟏

𝟐

𝟑

𝟏𝟒
𝟕

𝟏𝟏

𝟏

𝟐

) 

 

𝑪. (

𝟏

𝟔

𝟏

𝟐
𝟏

𝟐

𝟏

𝟒

) 𝑫. (

𝟏

𝟐

𝟏

𝟔
𝟏

𝟒

𝟏

𝟐

) 

Q22.  If represents an identity matrix and A is a square matrix such that   

𝑨𝟐 = 𝑨, 𝒕𝒉𝒆𝒏 (𝑰 + 𝑨)𝟐 − 𝟑𝑨 𝒊𝒔 𝒆𝒒𝒖𝒂𝒍 𝒕𝒐 

 𝐴. 𝑁𝑢𝑙𝑙 𝑚𝑎𝑡𝑟𝑖𝑥                    𝐵.  𝐴        𝐶. 𝑎𝑛 𝑖𝑑𝑒𝑛𝑡𝑖𝑡𝑦 𝑚𝑎𝑡𝑟𝑖𝑥                  𝐷. 6𝐴           

Q23. 𝐼𝑓 𝐴(3, 4) 𝑎𝑛𝑑 𝐵(2, 1), 𝑡ℎ𝑒𝑛 𝑒𝑞𝑢𝑎𝑡𝑖𝑜𝑛 𝑜𝑓 𝑙𝑖𝑛𝑒 𝐴𝐵 
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 A      x+y-7=0     B. 3x+y-5=0            C. 3x -y+5=0          D. 3x -y-5 =0 

Q24. 
𝑰𝒇 𝒚 = 𝒙𝒆𝒙, 𝒕𝒉𝒆𝒏 

𝒅𝟐𝒚

𝒅𝒙𝟐
. 

 𝑨.  𝒆𝒙(𝒙 + 𝟐) 𝑩.  𝒆𝒙 𝑪.  𝒆𝒙(𝒙 + 𝟏) 𝑫.    𝒙𝒆𝒙 + 𝟏 

Q25. 
𝑰𝒇 𝒂𝒙 + 𝒂𝒚 = 𝒂𝒂, 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
. 

 A. 𝒂𝒙−𝒚 B. −𝒂𝒙−𝒚 C. 𝒂𝒂+𝒙−𝒚 D. 𝒂−𝒙−𝒚 

Q26. 
𝑰𝒇 𝒚 =  

𝒙

𝒙 + 𝟏
, 𝒕𝒉𝒆𝒏 

𝒅𝒚

𝒅𝒙
 

 A.  
𝟏

𝒙+𝟏
                      B. 

−𝟏

 𝒙+𝟏
            C. 

𝟏

 (𝒙+𝟏)𝟐      D.  
−𝟏

(𝒙+𝟏)𝟐 

Q27 Which of the following is the derivative of 𝐥𝐨𝐠 (𝒍𝒐𝒈(𝒙𝟐 + 𝟏)  

𝒘𝒊𝒕𝒉 𝒓𝒆𝒔𝒑𝒆𝒄𝒕 𝒕𝒐 𝒙 

 A.  
𝟐𝒙

(𝒙𝟐+𝟏)𝒍𝒐𝒈(𝒙𝟐+𝟏)
                   

B.       
𝟐𝒙

𝒍𝒐𝒈(𝒍𝒐𝒈(𝒙𝟐+𝟏)
          

C.    
𝟏

𝟐𝒙𝒍𝒐𝒈(𝒙𝟐+𝟏)
    

D.   None of these 

28 If a matrix A has 9 elements, which of the following statement is correct? 

A. A is a square matrix 
B. A is either a row matrix or a column matrix or a square matrix. 
C. A is a row matrix 
D. A is a column matrix 

29. Total number of matrices of order 3X3 with each entry 2 or 0 

A. 9         B. 27      C. 81     D.512 

          A. 9      C. 81     D.512      B. 27    

       C. 81        D.512 

30. If A is a non-singular matrix of order 3, then which of the following is NOT true? 

 A. |𝑨| ≠ 𝟎 B. |𝒂𝒅𝒋𝑨| = |𝑨|𝟐 

 C. (𝑨−𝟏)−𝟏 = 𝑨 D. 𝑨𝟐 = 𝑨 
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Answer 

1  A 16 False 

2 D 17 C 

3 B 18 C 

4 C 19 B 

5 C 20 B 

6 D 21 D 

7 A 22 C 

8 C 23 D 

9 B 24 C 

10 C 25 B 

11 1 26 C 

12 0 27 A 

13 200 28 A 

14 A 29 D 

15 B 30 D 

 


